w K ASSEMBLY

DIAGONAL CLAMP
Suits 102 mm square toglbar

1.

1A #49 Pivot Clamp

STEEL PIVOT PIN
High Tensile
clamp bolts

d

PIVOTTING SHANK

CARRIER
10

Replaceable breakaway shear pin

8,9,

SHANK No. 332
Quick change attachment

1.

UNDERFRAME CLEARANCE 70 cm
SHANK ASSEMBLY

Available fitted to AP2 and AP4
Agrowplows or supplied separately.

Digging Adaptor No. b

12. \

#6A BLADE
13

AGROWPLOW PARTS PAGE 2.
LOWER H.P. REQUIREMENTS — NON INVERSION AND MINIMUM SOIL DISTURBANCE



120-002 RIGID BREAKAWAY SHANK ASSY PRE.1988.

ITEM# DESCRIPTION QTY PART No.
RIGID BREAKAWAY
SHANK ASSY Pre 1988 120-0002

1 #4 CLAMP PLATE 1 002-3003

1A #49 PIVOT CLAMP 1 002-3001
2 BOLT 3/4" X 2" C 4 133-3050
3 WASHER FLAT 3/4" 4 135-1010
4 WASHER SPRING 3/4” 4 135-0900
5 NUT 3/4" UNC 1 134-1020

6. PIVOT PIN 1 140-4041
7 LYNCH PIN 1 140-0039
8 SHEAR PIN 1 141-0061
9 SHEAR PIN CLIP 2 141-0019
10 # 318 SHANK CARRIER 1 002-3002
11 # 332 KNOCK IN SHANK 1 121-1004
12 #5 ADAPTOR 1 122-3003
13 #6A BLADE TUNGSTEN TIPPED 1 122-0062

BLADE OPTIONS

13A 6A BLADE HARDFACED 122-0061
13B 6A BLADE PLAIN 122-2029
O1 | #2 ADAPTOR TO FIT AP3 BLADES 122-2018

O1A AP3 BLADE PLAIN 122-2001
O1B | AP3 BLADE TUNGSTEN TIPPED 122-0033
o1c | AP3BLADE XTRA HARD FACED 1220035

OPTIONAL SHANKS
21" KNOCK IN SHANK 121-1001
27" KNOCK IN SHANK 121-1002
ACCESSORIES
SHANK REPAIR RIB 111-3013
=+ | WELD ON REPAIR BASE (changes 121-2005
i to the new style AP3 blade) 122-2001 122-0035 & 0033

MULCH BLADE ASSEMBLY 123-0001

AGROWPLOW PARTS PAGE 2



	120-002 Pre 1988 Rigid Shank Assy Picture
	120-002 Pre 1988 Rigid Shank Assembly Parts List

